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Change the following verbs from madi to mudari’:
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Form the amr from the following verbs:
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The teacher pretends to be looking for a thing (with a masculine nhame) and
one of the students says '3 32 W, He then pretends to be looking for a
thing (with a feminine name) and one of the students says u;: Gh &, Then

he pretends to be looking for a student saying, ‘where is All?’ and Ali cries
out saying M.:\'Ub.
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Make sentences with the help of the words given in the
brackets as shown in the example:
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The masdar of _x3is a3, Notice its use in the following
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POINTS TO REMEMBER

In this lesson, we learn the following:

1) We have learnt that most Arabic verbs have only three letters which are called
radicals. The first radical is called J, the second is called i, and the third is called
J. These names are taken from the verb J#8 which has been taken as an example

for all the verbs.

If one of the three radicals is 3 or ¢$, the verb is called mu'tall (‘__kliﬁ), l.e. weak. If the

-~ 0 & -]
first radical is 3 or & the verb is called mu'tall al-f3"(s\&) Ja=edty, i.e. weak of /3. It is also
called mithal (JL.oJ\)

If the second radical is 3 or ¢$, the verb is called mu'tal al-ain (d-ail J-MJ\) i.e. weak of
ain. Tt is also called ajwar (< y’!ﬂ)

If the third radical is 3 or (s, the verb is called mu'tall al-lam (e')LJ\ J._EQU\) i.e. weak of
/4m. 1t is also called ndgis (_a3\WY).

If two radicals are weak, the verb is called /afif (:J.giU\).

In this lesson, we learn the mithd/ verbs. We have examples only of verbs having 3 as the

first radical, e.g.:
Lﬁjj he stopped
d)} he weighed
&3 he placed

There is an abnormallty in the mudéri* of the mithal verb The first radical (9) is lost in the
mudari, e.qg.: 0)} —> ‘Jj (ya-zin-u) which is ongmally U_}j-' (ya-wzin-u)— like g«-—bu =

-

and after the omission of the wéw, it becomes o Jg (ya-zin-u).
In the same way:
Ay — L&? for ’uﬂy

Ay

J.""j—)-l?UfOI’ -\:ry
c&; — t-q for c&}g (it is a-a group)
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The amrfrom O § is O ‘weigh!’ No hamzat al-was/ is needed at the beginning as the verb

- Ag e £ . ° -,
does not commence with a sdkin letter. The armr of &R is g2 ‘place!’

2) 1.,,5/3 is the diminutive of 35} The diminutive form is used to indicate smaller size or
for endearment. It has the pattern of :};55, e.g.:
"R flower — R
3%5 river — J.-ga
L& slave — u

U"',. Hasan — W
3) 13320 Here it is!’

This expression is used when a person or a thing you have been looking for suddenly

appears.
The feminine form is (3 g“ »
‘Here I am’ is 14
4) Ly is the mudéri' of &3, So i literally means ‘it is necessary’, ‘it should be’,
e.é.: /
.;’JT;SJ\ F‘S“’ of L-l.c 2= "We should understand the Qur'an.”
Here the phrase (..@.Aa of is the /3% of L&u

Here are some more examples:

a8 t’ S of Sl ¢ = ‘You must return tomorrow.’

(’}J‘ upb)\ ‘}1 M:I i ‘;LG ;..:u ‘I must go to Riyadh today.’
The negatwe particle is used with the second verb, e.g.:

J...a.aii o C:""’ N of 4..19 w *He should not leave the class.’

A
But s.—ou Y means ‘need not’, e.g.:

Loyt 1 asd OF ke T Y 'We need not attend this lesson.”
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5) We have learnt one of the patterns of the masadar, It is d }’3 like cc 9 J_'r c& )5 3

3ym cdjj Now we learn two more patterns. One is J\-ﬂ-" like ol_p3" going’ from

u.-&:, CL’” success’ from @u The word <4} means ‘return’. It is from < 9 5; =l

-

(a-u) ‘to return’. It is on the pattern of JL’A Another example of this pattern is C&"

‘marriage’ from CS‘ éa (a-1) 'to marry.’

w//

oz

6) J8 is comparative of J..ls little’. It is originally ‘_}-Uﬁ like J_S\ cJ-o:-'l etc. But as the
second and the third radicals are identical, the third radical has been assimilated to

the second.

stranger
purse

money, cash

5 ticket

S return air-ticket

kilograrﬁ -
female

male

- regularly

he wills
severe
dear

mistake
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(a-i) to weigh

(a-i) to promise

(a-i) to stop, to stand

(a-i) to enter

(a-a) to pla;ce_

(a—a)‘ to gr-ant |

(a-i) to a.r'ri_vf?a

(i-a) to swallow
(a-u) to .asﬁ-ehd

(a-i) to Ee :ne.Cesséry
(a-i) to find |
return |

going



